DSM_OUTPUT[0:31]
AN

A

u31
p— 2 1 DSM_OUTPUTO
3 % ;2 7 DSM_OUTPUTL
DSM_OUTPUT2
DSM OUTPUT g 2Y A ?5 DSM_OUTPUT3
2Z 4A
BITS O-15 1(1) 3v
3z OE
J21 g w OE 15
1 z =
2
3 BPNPA16
4
5
6 u32
7
8 2 1 DSM_OUTPUT4
9 | 3|3y NI DSM_OUTPUT5
10 I 6|30 e DSM_OUTPUT6
11 I 5155 iA 15 DSM_OUTPUTY
12 I 10
13 | 1113y
3z OE
14 I 14 =E
a4y OE —12—_|
15 13 177
16 =
17
18 BPNPA16
19
20
21 U33
22
23 2 1 DSM_OUTPUTS
24 3| NI DSM_OUTPUT9
25 6 ;\Z( 22 9 DSM_OUTPUT10
26 5|5 SA M5 DSM_OUTPUTI11
2Z 4A
27 10 3y
28 11 | 55
3z OE
29 14 ==
a4y OE
30 13 177
31
32
33 BPNPA16
| 34
u34
CON34
2 1 DSM_OUTPUT12
3| NI DSM_OUTPUT13
6 ;\Z( 22 9 DSM_OUTPUT14
5|5 SA M5 DSM_OUTPUT15
2Z 4A
10 |55
11 | 55
14 | 32 OE
13 | &Y OF
4z
BPNPA16
TO LAYER 1 DATA
u3s
2 1 DSM_OUTPUT16
3| NI DSM_OUTPUT17
6 ;\Z( 52 9 DSM_OUTPUT18
DSM OUTPUT 13 5= un |15 DSM_OUTPUT19
3y
BITS 16-31 ﬁ 37 oE
&y e[
J22 13| 4 1
1
2 BPNPA16
3
4
5 u36
6
z 2 1 DSM_OUTPUT20
8 3|3y NI DSM_OUTPUT21
9 6 ;\Z( 22 9 DSM_OUTPUT22
10 | 5 |52 SA M5 DSM_OUTPUT23
2Z 4A
11 10 3y
12 11 | 55
3z OE
13 | 14 Yt
a4y OE
14 | 13 7
15 |
16
17 BPNPA16
18
19
20 u37
21
22 2.y 1A L DSM_OUTPUT24
23 3|3 7 DSM_OUTPUT25
24 6 ;\Z( 22 9 DSM_OUTPUT26
25 5|5 SA Ts DSM_OUTPUT27
2Z 4A
26 10 3y
27 11 | 55
3z OE
28 14 =
a4y OE
29 13 7
30
31
32 BPNPA16
133
| 34
u3s
CON34 21y 1A L DSM_OUTPUT28
aliy NI DSM_OUTPUT29
e 6150 a e DSM_OUTPUT30
5|5 15 DSM_OUTPUT31
2Z 4A
10 |55
11 | 55
14 | 32 OE
en P e
4z e—
BPNPA16

INPUT15_[0:4]
A

A

u22
INPUTI5 0 3 [~ a | 2__tofl5 adc bit 0 TOF DSM
INPUTI5 1__& 1A = T1of15 _adc bit ON
INPUTI5 211 | 2% 1B "~ %of15 adc bit 1 INPUT 15
INPUTI5 313 | oV 2A I (of15 _adc _bit IN J16
4y 2B ™0 tofl5_adc bit 2
3A 70" tof15_adc bit 2N tofl5 adc bit 0 1
3B 714 tofi5 adc bit 3 tofl5_adc bit ON o
AA 7 - 1of15_adc bit 3N tofl5 adc bit 1 3
4B tofl5 _adc bit IN 4
tof15 adc bit 2 5
OE tof15_adc bit 2N __§
OE tofl5 adc bt 3 7
== tof15 adc bit 3N 8
BRR1AL6 tofl5 adc bt 4 g
tofl5_adc _bit 4N 10
INPUT16_[0:4] BOARD CON 15 11
N 12
& ratm 1
14
u23 &
INPUTI5 4 3 o tofl5 adc bit 4 CON14
INPUT16 0 = | LY 1A M T1of15_adc bit 4N R36
INPUT16 1 1112 1B "™ tof16_adc bit 0 R20 RES
INPUT16 2 13 | 3Y 2A 707 1of16_adc _bit ON RES
4y 2B 0 tof16 adc bit 1
3A 70" tof16_adc bit IN
3B 714 tofi6 adc bit 2 e
% 15 tofl6_adc bit 2N =
vee TOF DSM
OE
OE _lﬁ_ INPUT 16
= J17
BRR1AL6
tofl6_adc_bit O 1
tofl6_adc_bit ON 2
tofl6_adc bit 1 3
INPUT17_[0:4] tofl6_adc bit IN 4
N tofl6_adc bit 2 c
tofl6_adc_bit 2N 6
u24 tof16 adc bt 3 7
tofl6_adc bit 3N g
INPUT16 3 3 2 tofl6_adc bit 3 tofl6_adc_bit 4 9
INPUT16 4 =1y 1A 717 %of16_adc bit 3N tof16_adc bit 4N 10
INPUT17 0 1112 1B "~ 1of16 adc bit 4 BOARD CON 16 11
INPUT17 1 13 | 3Y 2A 707 1of16_adc bit 4N 12
4y gi 10 tofl7ade bit O o RS 16 13
3B 9 tofl7 _adc_bit ON <<RS 16N 14
14 tofl7 adc_bit 1
AA 7 ™ tof17 _adc bit IN
48 CON14
R37
% R19 RES
BRR1AL6
Vool
INPUT18_[0:4]
N TOF DSM
u2s INPUT 17
INPUT17 2 3 5 tofl7 adc bit 2 J18
INPUT17 3 =1y 1A 717 %of17 adc bit 2N
INPUT17 4 1112 1B - %of17 adc bit 3 tofl7 adc bit 0 1
INPUT18 0 13 | 3Y 2A 707 {of17 adc bit 3N tofl7_adc bit ON o
4y 2B ™0 tofl7 adc bit 4 tofl7 adc bit 1 3
3A 70" tofi7 _adc bit 4N tofl7 adc bit IN 4
3B [{4 tofi8 adc bit 0 tofl7 adc bit 2 &
AA 7 -~ tof18 adc bit ON tofl7 adc bit 2N §
4B tofl7 adc bit 37
tofl7 adc bit 3N g
OE tofl7 adc bit 4 g
OE tof17_adc bit 4N 10
= BOARD CON 17 11
BRR1AL6 12
<< RS 17 13
<< RS 17N 14
CON14
u26 R38
R18 RES
INPUT18 1 3 5 tofl8 adc bit 1 RES
INPUT18 2 =1y 1A 717 %of18 adc bit IN
INPUT18 3 1112 1B "%of18 adc bit 2
INPUT18 4 13 | 3Y 2A 707 1of18 adc bit 2N e
4y 2B ™0 1of18 adc bit 3 =
%’Q 3 tof18 adc bit 3N VCT
14 tofl8 adc_bit 4
% 15 tofl8 adc bit 4N TOF DSM
INPUT 18
OE
OE 12 J19
tofl8 adc_bit O 1
BRR1AL6 tof18 adc bit ON o
tofl8 adc bit 1 3
tofl8 adc bit IN 4
tofl8 adc _bit 2 5
tofl8 adc_bit 2N 6
INPUT19_[0:4] tof18_adc bit 3 7
N tofl8_adc bit 3N __ g
tofl8 adc _bit 4 9
tofl8 adc bit AN 10
u27 BOARD CON 18 11
12
INPUT19 0 3 2 tofl9 adc bit O RS 18 13
INPUT19 1 =LY 1A = T16f19_adc_bit ON KR In 14
INPUT1O 2 1112 1B "™ 1of19_adc bit L &
INPUT19 3 13 |3 2A I (of19_adc_bit_IN
a4y gi 10__tof19_adc bit 2 CON14
s Y tofl9 adc_bit 2N R39
3B M7 tof19_adc_bit 3 R17 RES
A4A ™ & Tof19_adc_bit_3N RES
2B
OE
OF [F— =
= vee -
BRR1AL6
TOF DSM
INPUT 19
J20
tofl9_adc_bit O 1
tofl9 adc_bit ON 2
u28 tof19_adc bit 1 3
tofl9 adc bit IN 4
INPUT19 4 3 2 tofl9_adc _bit 4 tofl9 adc _bit 2 5
5 g % 1 tofl9 adc bit 4N tof19_adc bit 2N &
11 6 tofl9 adc bit 3 7
13 iz % 7 tof19_adc bit 3N g
3A 10 tofl9 adc_bit 4 9
3B 9 tofl9 _adc bit 4N 10
3 a BOARD CON 19 11
2B 5 12
<< RS 19 13
oE << RS 19N 14
O
= CON14
BRR1AL6 R40
R16 RES
RES
vCT -

INPUT13_[0:4]
A

A

INPUT10_[0:4]
A

A

u1s
INPUT10 0 3 [~ p | 2__of10 adc bit 0 TOF DSM
INPUTIO 1_& 1A ™ 16f10_adc_bit ON
INPUTI0 211 | 2V 1B "~%of10_adc bit 1 INPUT 10
INPUTI0 333 | 5V 2A ™~ {of10_adc_bit_IN Ji1
4y 2B ™0 1of10_adc bit 2
3A 75" 1of10_adc bit 2N tofl0 adc bit 0 1
3B 714 tofl0 _adc bit 3 tof10_adc bit ON__ o
AA 7 - 10f10_adc bit 3N tofl0 adc bit 1 3
48 tof10_adc bit IN 4
4 tof10_adc_bit 2 5
OE 75 tof10_adc bit 2N &
OE tofl0_adc bit 37
== tof10 adc bit 3N 8
BRR1AL6 tofl0_adc bt 4 g
tofl0_adc _bit 4N 10
INPUT11_[0:4] BOARD CON 10 11
N 12
<< RS 10 13
RS 10N 14
U6 &
INPUTI0 4 3 5 tofl0 adc bit 4 CON14
INPUT11 0 = | 1Y 1A ™ T16f10_adc_bit 4N R31
INPUT1L 1 1112 1B "™ tof1L_adc bit 0 R11 RES
INPUT1L 2 13 | 3Y 2A 70" {of11_adc bit ON RES
4y 2B ™0 tofll adc bit 1
3A 70" tofil_adc bit IN
3B 714 tofll adc bit 2 e
% 15 tofll adc bit 2N =
, vee TOF DSM
OE
OE H12 INPUT 11
OE
= J12
BRR1AL6
tofll adc_bit O 1
tofll adc_bit ON 2
tofll adc bit 1 3
INPUT12_[0:4] tofll_adc bit IN 4
N tofl1_adc bit 2 c
tofll adc_bit 2N 6
u17 tofll adc bt 3 7
tofll adc bit 3N g
INPUT11 3 3 2 tofll adc bit 3 tofll adc bit 4 9
INPUTL1L 4 = 1Y 1A 717 %of11_adc bit 3N tofLlL_adc bit 4N 10
INPUT12 0 1112 1B "~ %oflL adc bit 4 BOARD CON 11 _11
INPUT12 1 13 | 3Y 2A 707 {of11_adc bit 4N 12
4y gi 10 tofl2 adc bit 0 (RS 11 13
3B 9 tofl2_adc_bit ON <<RS 11N 14
14 tofl2 adc_bit 1
AA 7 - tof12_adc bit IN
48 CON14
4 R32
oF [z R12 RES
1 RES
BRR1AL6
Vool
TOF DSM
uis INPUT 12
INPUT12 2 3 5 tofl2 adc bit 2 J13
INPUT12 3 = 1Y 1A 717 %of12_adc bit 2N
INPUT12 4 1112 1B " %of12 adc bit 3 tofl2 adc bit 0 1
INPUT13 0 13 | 3Y 2A 707 1of12_adc bit 3N tof12_adc bit ON o
4y 2B ™0 tof12_adc bit 4 tofl2 adc bit 1 3
3A 70" tof12_adc bit 4N tofl2_adc bit IN 4
3B [{4 tofi3 adc bit 0 tofl2_adc bit 2 &
AA 7 - 1of13_adc bit ON tofl2_adc bit 2N g
48 tofl2_adc bit 37
4 tofl2_adc bit 3N g
OE 75 tofl2_adc bit 4 g
OE tof12_adc bit 4N 10
= BOARD CON 12 11
BRR1AL6 12
<< RS 12 13
<< RS 12N 14
CON14
u19 R33
R13 RES
INPUT13 1 3 5 tof13 adc bit 1 RES
INPUT13 2 = 1Y 1A 717 %of13 adc bit IN
INPUT13 3 1112 1B "%of13 adc bit 2
INPUT13 4 13 | 3Y 2A ["o™1of13_adc bit 2N e
4y 2B ™0 1of13 adc bit 3 =
%’Q 9 tof13 adc bit 3N VCT
14 tofl3 adc_bit 4
% 15 tofl3 adc bit 4N TOF DSM
, INPUT 13
% 12 J14
_1L _
== tofl3_adc_bit 0 1
BRR1AL6 tof13_adc bit ON o
tofl3 adc bit 1 3
tofl3 adc bit IN 4
tofl3 adc_bit 2 5
tofl3 adc_bit 2N 6
INPUT14_[0:4] tof13_adc bit 3 7
N tof13_adc bit 3N __ g
tofl3 adc_bit 4 9
tofl3 adc_bit AN 10
U20 BOARD CON 13 11
12
INPUT14 0 al,, 1a |2 tfofl4 ade bit 0o RS 13 13
INPUT14 1 c 1A = T(of14 _adc _bit ON RS 13N 14
INPUT14 2 1112 1B "™ 1of14_adc bit L &
INPUT14 3 13 |3 2A I {of14 adc _bit IN
a4y gi 10__tofl4_adc bit 2 CON14
s Y tofl4 _adc_bit 2N R34
3B M7 tofl4_adc bit 3 R14 RES
A4A ™ & Tofl4_adc_bit 3N RES
2B
OE M4
OE [H2 -1 e
= vee -
BRR1AL6
TOF DSM
INPUT 14
J15
tofl4 _adc_bit O 1
tofl4 adc_bit ON 2
u21 tofl4 adc bit 1 3
tofl4_adc bit AN 4
INPUT14 4 3 2 tofl4 _adc_bit 4 tofl4 adc_bit 2 5
5 g % 1 tofl4_adc bit 4N tofl4_adc bit 2N g
11 6 tofl4 adc _bit 3 7
13 iz % 7 tofl4_adc bit 3N g
3A 10 tofl4 _adc_bit 4 9
al I tofl4_adc _bit AN 10
3B [T BOARD CON 14 11
4A
%8 s 12
<< RS 14 13
OE <<RS 14N 14
OE 12
_1L
= CON14
BRR1AL6 R35
R15 RES
RES

INPUT8_[0:4]

A

INPUT5_[0:4]
A

A

us
INPUT5 0 3 1y 1A 2 tof5_adc_bit 0 TOF DSM
INPUT5 1 5 1A ™ T%of5_adc_bit ON
INPUT5 211 | 27 1B "%of5_adc bit L INPUT 5
INPUT5 313 | 5V 2A [~ tof5_adc_bit_IN J6
4y 2B ™0 tof5_adc bit 2
3A 75" tof5_adc _bit 2N tof5_adc_bit 0 1
3B [14 tof5 adc bit 3 tof5_adc bit ON o
AA 7 - tof5_adc_bit 3N tof5_adc_bit 1 3
4B tof5_adc bit IN 4
tof5_adc_bit 2 5
OE tof5_adc bit 2N &
OE tof5_adc_bit 3 7
== tof5_adc_bit 3N 8
INPUT6_[0:4] BRR1A16 tof5_adc_bit 4 9
N tof5_adc_bit 4N__ 10
BOARD CON 511
12
K—p2 12
RS 5N
Uo « 14
INPUT5_4 3 5 tof5_adc bit 4 CON14
INPUT6 0 = | LY 1A M7 1of5_adc bit 4N R26
INPUT6 1 1112 1B "™ tof6_adc bit 0 R10 RES
INPUT6 2 13 | 3Y 2A ™0™ 156 _adc_bit ON RES
4y 2B ™0 tof6_adc bit 1
3A 75" tof6_adc _bit IN
3B [14 tof6_adc bit 2 e
% 15 tof6_adc bit 2N W
TOF DSM
OE
OE —lL_l_ INPUT 6
= J7
BRR1AL6
INPUT7_[0:4] tof6_adc_bit 0 1
N tof6_adc_bit ON >
tof6_adc_bit 1 3
tof6_adc_bit 1IN 4
tof6_adc_bit 2 5
tof6_adc_bit 2N 6
u10 tof6_adc bit 3 7
tof6_adc_bit 3N 8
INPUT6 3 3 2 tof6_adc_bit 3 tof6_adc_bit 4 9
INPUT6 4 = 1Y 1A I"1™%of6_adc_bit 3N tof6_adc bit 4N 10
INPUT7 0 1112 1B ~"tof6_adc bit 4 BOARD CON 6 11
INPUT7 1 13 | 3Y 2A ™0™ 1of6_adc_bit 4N 1
4y 2B ™0 tof/_adc bit 0 «Rs 6 13
3A 75" tof7_adc_bit ON KBS 6N I
3B [14 tof7_adc bit 1
% 15 tof7_adc bit IN
CON14
R27
OE R9 RES
OE RES
BRR1A16 .
veT -
TOF DSM
vt INPUT 7
INPUT7 2 3 5 tof7_adc bit 2 J8
INPUT7 3 = 1Y 1A I71™%0f7 _adc_bit 2N
INPUT? 4 1112 1B "%of7 adc bit 3 tof7_adc_bit 0 1
INPUT8 0 13 | 3Y 2A ™0™ {of7_adc_bit 3N tof7_adc bit ON o
4y 2B ™0 tof7_adc bit 4 tof7_adc bit 1 3
3A 75" tof7_adc_bit 4N tof7_adc bit IN 4
3B [14 tof8_adc bit 0 tof7_adc bit 2 c
AA 7 ™ tof8_adc_bit ON tof7_adc bit 2N &
4B tof7_adc bit 3 7
tof7_adc_bit 3N 8
OE tof7_adc bit 4 9
OE tof7_adc bit 4N 10
= BOARD CON 7 11
BRR1AL6 12
<< RS 7 13
<<RS 7N 14
CON14
u12 R28
R8 RES
INPUTS 1 3 5 tof8 adc bit 1 RES
INPUTS 2 = | LY 1A ™ 71of8_adc bit_IN
INPUTS 3 1112 1B "™ 1of8_adc bit 2
INPUT8 4 13 | 3Y 2A "0™1of8_adc_bit 2N e
4y 2B ™0 tof8_adc bit 3 =
%’Q 3 tof8_adc bit 3N VCT
14 tof8 adc bit 4
% 15 tof8_adc bit 4N TOF DSM
INPUT &
OE
OF 12 J9
tof8_adc_bit 0 1
BRR1AL6 tof8_adc bt ON o
tof8_adc_bit 1 3
INPUT9_[0:4] tofé_adc_bit 1IN 4
N tofé_adc_bit 2 c
tof8_adc_bit 2N 6
tof8_adc_bit 3 7
tof8_adc_bit 3N 8
tof8_adc_bit 4 9
tof8_adc_bit 4N 10
u13 BOARD CON 8__11
12
INPUT9 0 3 2 tof9_adc_bit 0 RS 8 13
INPUTO 1 = 1Y 1A 71™%6f9 _adc_bit ON <<<<RS 8N 4
INPUTO 2 1112 1B " 1of9_adc bit 1
INPUT9 3 13 | 3Y 2A ™0™ 15f9_adc_bit IN
4y 2B ™0 tof9_adc bit 2 CON14
3A 75" tofo_adc_bit 2N R29
3B M7 tof9_adc_bit 3 R7 RES
A4A ™ = tof9_adc_bit 3N RES
2B
ol
OE —lﬁ_ =
= vee -
BRR1AL6
TOF DSM
INPUT 9
J10
tof9_adc_bit 0 1
tof9_adc_bit ON 2
U4 tof9_adc_bit 1 3
tof9_adc_bit 1IN 4
INPUT9 4 3 2 tof9_adc_bit 4 tof9_adc_bit 2 5
5| 1Y 1A I717%6f0 _adc_bit 4N tof9_adc bit 2N &
1112 1B tof9_adc bit 3 7
133" 2A tof9_adc bit 3N g
4y 2/? 0 tof9_adc_bit 4 9
iB 9 tof9_adc bit 4N 10
iA 14 BOARD CON 911
2B 5 12
<< RS 9 13
OE <<RS 9N 14
CEfE—
= CON14
BRR1AL6 R30
R6 RES
RES
Vool

INPUTO_[0:4]
A

A

uL TOF DSM
INPUTO_0 3 5 tofo_adc bit 0
INPUTO 1 = 1Y 1A I"1™%of0_adc_bit ON INPUT O
INPUTO 211 | 27 1B "%of0_adc bit L
INPUTO 313 | 5V 2A [~ tof0_adc_bit_IN J1
4y 2B ™70 tof0_adc bit 2
3A 75" tof0_adc_bit 2N tofo_adc_bit 0 1
3B [14 tof0_adc bit 3 tof0_adc bit ON o
AA 7 ™ tof0_adc_bit 3N tof0_adc_bit L 3
48 tof0_adc bit IN 4
tof0 adc bit 2 5
OE tof0_adc bt 2N___§
OE tof0_adc bit 3 7
tof0 adc bit 3N 8
BRRI1A16 tof0_adc bit 4 9
INPUT1_[0:4] tof0_adc_bit 4N __ 10
N BOARD CON 0 11
12
A I
U2 « 14
INPUTO_4 3 5 tofo_adc bit 4 CON14
INPUTL 0 = | LY 1A ™71of0_adc_bit 4N R21
INPUTL 1 1112 1B "™ 1ofL_adc bit 0 R1 RES
INPUTL 2 13 | 3Y 2A ™0™ {of1_adc_bit ON RES
4y 2B ™0 tofl_adc bit 1
3A 75" tofl_adc bit IN
3B [14 tofl_adc bit 2 e
% 15 tofl_adc bit 2N =
vee TOF DSM
OE
oF INPUT 1
J2
BRRI1A16
tofl_adc_bit 0 1
tofl_adc_bit ON 2
tofl_adc_bit 1 3
INPUT2_[0:4] tofl_adc _bit 1IN 4
N tofl_adc_bit 2 c
tofl_adc_bit 2N 6
U3 tofl adc_bit 3 7
tofl_adc_bit 3N 8
INPUT1 3 3 2 tofl_adc_bit 3 tofl_adc_bit 4 9
INPUTL 4 = 1Y 1A I71™%of1_adc bit 3N tofL_adc bit 4N 10
INPUT2 0 1112 1B "~ {ofL_adc bit 4 BOARD CON 1 11
INPUT2 1 13 | 3Y 2A ™0™ {of1_adc_bit 4N 12
4y gi 10 toZ adebit 0 oo RS 1 13
3B 9 tof2_adc_bit ON <<RS 1N 14
14 tof2 _adc bit 1
AA 7 ™ tof2_adc bit IN
48 CON14
o u S
OE RES
BRRI1AL6
INPUT3_[0:4] =
N Vool
TOF DSM
u4 INPUT 2
INPUT2 2 3 5 tof2_adc bit 2 33
INPUT2 3 = 1Y 1A "1™%of adc bit 2N
INPUT2 4 1112 1B "%of adc bit 3 tof2_adc_bit 0 1
INPUT3 0 13 | 3Y 2A ™0™ {of_adc_bit 3N tof2_adc bit ON o
4y 2B 0 tof2_adc bit 4 tof2_adc_bit 1 3
3A 75" tof2_adc_bit 4N tof2_adc bit IN 4
3B [14 tof3 adc bit 0 tof2_adc_bit 2 c
AA 7 ™ tof3_adc_bit ON tof2_adc bit 2N &
48 tof2_adc bit 3 7
tof2_adc_bit 3N 8
OE tof2_adc_bit 4 9
OE tof2_adc bit 4N 10
BOARD CON 2 11
BRRI1AL6 12
<< RS 2 13
<< RS 2N 14
CON14
us R23
R3 RES
INPUT3 1 3 5 tof3 adc bit 1 RES
INPUT3 2 = 1Y 1A 1 ™10f3_adc bit IN
INPUT3 3 1112 1B 103 adc bit 2
INPUT3 4 13 | 3Y 2A ™0™ 1of3_adc_bit 2N e
4y 2B ™0 tof3_adc bit 3 =
%’Q 3 tof3_adc bit 3N VCT
14 tof3 adc bit 4
% 15 tof3_adc bit 4N TOF DSM
INPUT 3
OE
OE 12 J4
tof3_adc_bhit 0 1
BRR1A16 tof3_adc bt ON o
tof3_adc_bit 1 3
INPUT4_[0:4] tof3_adc_bit 1IN 4
N tof3_adc_bit 2 c
tof3_adc_bit 2N 6
tof3_adc_bit 3 7
tof3_adc_bit 3N 8
tof3_adc_bit 4 9
tof3_adc_bit 4N 10
U6 BOARD CON 3 11
INPUT4 0 f4_adc_bit 0 RS 3 12
3 2 tof4_adc_bit 13
INPUT4 1 = 1Y 1A I=1™%of4 adc_bit ON & RN I
INPUT4 2 1112 1B "%of4_adc bit 1 &
INPUT4 3 13 | 3Y 2A ™0™ {of4_adc_bit IN
4y gi 10___tof4_adc bit 2 CON14
s Y tof4_adc_bit 2N R24
3B M7 tof4_adc_bit 3 R4 RES
AA 7 ™ tof4_adc_bit 3N RES
2B
OE
OE =
vCT -
BRR1A16
TOF DSM
INPUT 4
J5
tof4_adc_bit 0 1
tof4_adc_bit ON 2
u7 tof4_adc_bit 1 3
tof4_adc_bit 1IN 4
INPUT4 4 3 2 tof4_adc_bit 4 tof4_adc_bit 2 5
=1y 1A 71 ™%of4 _adc _bit 4N tof4_adc bit 2N &
1112 1B I+ tof4_adc_bit 3 7
13 iz % 7 tof4_adc bit 3N g
3A 10 tof4_adc_bit 4 9
3B 9 tof4_adc_bit 4N 10
3 a BOARD CON 411
2B 5 12
<< RS 4 13
oE <<RS AN 14
S e
= CON14
BRRI1A16 R25
RS RES
RES
vCT -

BOARD_CON_[19:0] bits are optional, of which only 8 bits can be mapped to the P2A & P2B connector rows to the DSM
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DSM_OUTPUT[0:15]
AN

A

P2A
DSM_OUTPUTO a3 | A2
DSM_OUTPUTL an | A3
DSM_OUTPUT2 as | A4
DSM_OUTPUT3 ag | A0
DSM_OUTPUT4 a7 | A8
DSM_OUTPUTS ag | A7
DSM_OUTPUT6 a9 | A8
DSM_OUTPUTY 210 2?0
IXVH o
DSM_OUTPUTS AL2
DSM_OUTPUT9 a1z | A12
DSM_OUTPUT10 a1a | A13
DSM_OUTPUT1L a5 | A4
DSM_OUTPUTL2 Al | AL
DSM_OUTPUTL3 a7 | AL6
DSM_OUTPUT14 g | A7
DSM_OUTPUT15 A19 ﬁig
720 | 50
RS A21 |57
RS N A22 A22
A23 | 50
ADD_HALT A4
ADD HALT N s | A24
CHAIN BLK_OUT 726 252
_A27 | A27
_A28 | A28
_A29 | A29
_—A30 | A30
A3l | 30
_A32 | A32
DIN96_ABC
JP11
RHIC_STROBE_IN 1, > b2 RHIC_STROBE IN N
LATCH_ADD ad 3 7 Ba LATCH _ADD N
RUN_STOP sd o e b RUN_STOP N
ADD _HALT d > o ba ADD_HALT N
—99 9 10 bi0
3M 10PIN

VYME P2 CONNECTOR

DSM_OUTPUT[16:31]
AN

A

P2B p2C P3A
P3B
|—EJ_ —C1 | 71
VMERSY B2 | B! co | &L 72 % INPUTO Al
B2 c2 22 K al
B3 B3 DSM OUTPUT16 C3 C3 73 3 <<INPUTO 4 A2 5
B4 DSM_OUTPUT17 ca 74 | ? <<INPUT1 a3 | &
BS gg DSM_OUTPUT18 c5 gg 75 ;‘5‘ INPUTZ 2 v ai
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